[image: image1.png][F: \Progran\CSE244\proj2 \Dehug>proj2 samplel.txt
ash = 1565

x = 313

xy = 13

v = 325

Total nunber of lines processed: 18

[Total nunber of declarations: 4

P2 \Progran\CSE244\proj2 \Dehug>proj2 sample2.txt

[Total nunber of lines processed: 13
[Total nunber of declarations: 4

P2 \Progran\CSE244\proj2 \Dehug>proj2 sanpled.ext
[Exror:ID already defined:

—-At Line 4 ID name: yl
[Exror:ID not declared:

—-At Line: 6 ID name: y2
iarning: 1D value not initialized:

—-At Line: 7 ID name: x Action: Use default value 8
[Exror: CONST can’t he LHS of expressiol

—-At Line: 7 Recovery: Use CONST 13 as LHS operand
iarning: 1D value not initialized:

—-At Line: 8 ID name: x Action: Use default value 8
[Error: operator can’t be

—-At Line: 8 Recovery: Evaluate as 4
[Exror: CONST can’t he LHS of expressio

—-At Line: 18 Recovery: Use CONST 13 as LHS operand

Invalid assignment.
—-At Line 12

[Total nunber of lines processed: 11
[Total nunber of declarations: 3

P2 \Progran\CSE244\proj2 \Debug>
P2 \Progran\CSE244\pro 32 \Debug>
P2 \Progran\CSE244\pro 32 \Debug>
P2 \Progran\CSE244\pro32 \Debug>,





Result of parsing sample1.txt, sample2.txt, sample3.txt

